

Name: Onwualu Chukwafumnanya Joan
 Matric Number: 191N1150V353
 Department: mBBS
 College: MHS
 Course Code: MAT 104

$$D) \int \frac{11-3x}{x^2+2x-3}$$

$$x^2+2x-3$$

$$x^2-3x-x-3$$

$$x(x+3)-1(x+3)$$

$$(x-1)(x+3)$$

$$\therefore \int \frac{11-3x}{(x-1)(x+3)} = \int \frac{A}{x-1} + \int \frac{B}{x+3}$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{A(x+3) + B(x-1)}{(x-1)(x+3)}$$

$$11-3x = A(x+3) + B(x-1)$$

$$f(1) \Rightarrow 11-3(1) = A(1+3) + B(1-1)$$

$$11-3 = 4A+0$$

$$4A = 8$$

$$A = 2$$

$$f(-3) \Rightarrow 11-3(-3) = A(-3+3) + B(-3-1)$$

$$11+9 = 0+4B$$

$$-4B = 20$$

$$B = -5$$

$$\int \frac{11-3x}{x^2+2x-3} = \int \frac{2}{x-1} - \int \frac{5}{x+3}$$

$$= 2 \int \frac{1}{x-1} - 5 \int \frac{1}{x+3}$$

$$= 2 \ln|x-1| - 5 \ln|x+3|$$

19/MHS01/353

$$2) \int \frac{4x-16}{x^2-2x-3} = \int \frac{4x-16}{(x+1)(x+3)}$$

$$\frac{4x-16}{(x+1)(x+3)} = \frac{A}{x+1} + \frac{B}{x+3}$$

$$\frac{4x-16}{(x+1)(x+3)} = \frac{A(x+3) + B(x+1)}{(x+1)(x+3)}$$

$$4x-16 = A(x+3) + B(x+1)$$

$$f(3) \Rightarrow 4(3)-16 = A(3+3) + B(3+1)$$

$$12-16 = 0 + 4B$$

$$4B = -4$$

$$B = -1$$

$$f(-1) \Rightarrow 4(-1)-16 = A(-1+3) + B(-1+1)$$

$$-4-16 = -4A + 0$$

$$-20 = -4A$$

$$A = 5$$

$$\int \frac{4x-16}{x^2-2x-3} = \int \frac{5}{x+1} - \int \frac{1}{x+3}$$

$$= 5 \int \frac{1}{x+1} - \int \frac{1}{x+3}$$

$$= 5 \ln|x+1| - \ln|x+3|$$

$$3) \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)}$$

$$= \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

19/MHS01/853

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x+2)$$

$$f(-1) \Rightarrow 2(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3) + B(-1+3)(-1+3) + C(-1+1)(-1-2)$$

$$2 + 9 - 35 = A(-3)(2) + 0 + 0$$

$$-6A = -24$$

$$A = 4$$

$$f(2) \Rightarrow 2(2^2) - 9(2) - 35 = A(2-2)(2+3) + B(2+1)(2+3) + C(2+1)(2-2)$$

$$2(4) - 18 - 35 = 0 + B(3)(5) + 0$$

$$15B = -45$$

$$B = -3$$

$$f(-3) \Rightarrow 2(-3)^2 - 9(-3) - 35 = A(-3-2)(-3+3) + B(-3+1)(-3+3) + C(-3+1)(-3-2)$$

$$2(9) + 27 - 35 = 0 + 0 + C(-2)(-5)$$

$$10 = 10C$$

$$C = 1$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \int \frac{4}{x+1} - \int \frac{3}{x-2} + \int \frac{1}{x+3}$$

$$= 4 \int \frac{1}{x+1} - 3 \int \frac{1}{x-2} + \int \frac{1}{x+3}$$

$$= 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3|$$